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CBRET MR R 8.80 ETHITES, MR
WEBLR 5% , Mt E R EM R EL?

(A)0.44 #£5C (B)8.36 £7T (C)9.20 5T
(D)9.24 %5t (E)13.20 X7t

N AU B RR, B AR ER 0.10 EJT, K
K —APARTIH, F—-TART 0.30 £5t,
B A—ILEH T £ 0/R7

(A)6 (B)7 (C)8

(D)9 (EEBAR

. — AR R 162 FREM AR T 54 tEME, B
MEMER 6 Eit. MEMBENHERESDE
J6?

(A)2 (B)9 (O)15

(D)18 (E)27

M TTT HE S, — AN AR R R 7 BB 777,
770,763, - [A) B T 5 R4~ 5507

(A4 (B)42 (C)43

(D)44 (E)45

. iR —A RS 2 — R RN — AN, B
52z —HER—NEEN, ZR2Z2—E—4 P4
N iBARAE TS 13 4, [Af—3L5 T S04
(A)42 (B)56 (C)60

(D)120 (E) LR% REA N

CSANERM 3 ANEFEILES 2.47 KT, MRE
RAOFENRN L, N SILEER 3.13 .
6] 6 PR 6 NEFRELRS PSR

1

. Jean buys a calculator whose price is marked as

$ 8.80. If the tax on the purchase is 5%, what
will the total price be for the calculator?

(A) $0.44 (B) $8.36 (C)$9.20
(D) $9.24 (E)$13.20

. Two men play a card game for which the stakes

are $0.10 a game. At the end, one has won 3
games and the other has won $ 0.30. How many
games did they play?

(A)6 (B)7 (C)8

(D)9 (E)Not enough information

. A grocer trades 162 barrels of flour valued at

$6.00 a barrel for 54 barrels of sugar. What is
the value of a barrel of sugar?
(A) $2.00 (B) $9.00
(D) $18.00 (E) $27.00

(C) $15.00

. Starting at 777 and counting backwards by 7s, a

student counts 777 ,‘770, 763, etc. A number that
will be counted is ‘

(A)41 (B)42 ()43
(D)44 (E)45

. Tom lived a quarter of his life as a boy, a fifth as a

young man, a third in middle-age and 13 years in
retirement. How old was he when he died?
(A)42 (B)56 ' (C)60
(D)120 “(E)None of these

. Five apples ard three bananas cost $2.47. If the

price of apples and bananas was exchanged, the
same amount of fruit would cost $ 3.13. How
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(A)4.20 £7C
(D)4.80 #7T

(B)4.24 £76  (C)4.40 7T
(E) FREEEH A

EAERE H2ABARE—RKRR, B3

MEARE—RG, BANBASFE—RA, &
— B SITRF . ABEELPEANBETE
7
(A)42
(D)120

(B)56 (C)60
(E) EREREAX

. 100 NERIBRBE 3 4B, 5 L ABEAIE 2 4

BihERAEECN 56 4,58 2 AMBIEFISE 3 B
BRABECH 70 1,58 3 B A £ Bk
(A)24 (B)30 (C)36

(D)44 (EXEEBAR

B 20 D EAE K E A RS

66, H—H 30 2EA R RSH 56, PIPI—
B SR E 7

(A)58 (B)59 (C)61
(D)62 (E) L REREHAXT
10. —¥2N 2 WREE—l
KA 10WIEHFFEHNBES
—R. MEOESrKER O
e
(A)16 (B)24
(C)32 (D)40
(E) ERERHEH AR

11.

FEX axXbH2a Ma+b FEAFERKH—
HARX3) X (3X2)FFE?

(A)9 (B)10 (O11
(D)12 (E) LR BEREAR

10. A circle of radius 2 rolls

much would six apples and six bananas cost?
(A)$4.20 (B)$4.24 (C) $4.40
(D) $4.80 (E)None of these

7. At a banquet, every 2 guests shared one dish for

rice, every 3 guests shared one dish for soup and
every 4 guests shared one dish for meat. How

many guests were present if there were 65 dishes

altogether?
(A)42 (B)56 (©)60
(D)120 (E)None of these

. One hundred marbles are placed in three bowls.

The first and second bowl contain a total of 56
marbles, and the second and third bowl! a total of
70 marbles. How many marbles are in the third
bowl?
(A)24
(D)44

(B)30 (C)36

(E)Not enough information

. A class of 20 students achieves an average of 66 on

an exam. A second class of 30 students achieves an
average grade of 56 on the same exam. The
average for the combined classes is:
(A)58 (B)59

(D)62 (E)None of these

(C)61

completely around the inside

perimeter of a square of side O
10. What distance is covered

by the centre of the circle?
(A)16 (B)24
(C)32 (D)40
(E)None of these

11. Define a X b to be the larger of 2a and a + b.

Then (2X3) X (3X2) is equal to
(A)9 (B)10
(D)12 (E)None of these

(O11
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12.

13.

14.

15.

4 A 1B AT IER T, T 51— A e
A 11A +19B FER?

(A)30 (B)68 (O)123
(D)211 (E) EiREZ#AXT

SRS
@810

IEF A.B.C f1D
R — A B A A
25 BRI E A S B

(A)

(B)

(©)

X)X

(D)
(EEEARE
—IE B DU v 5 ) i R
MW —WHENEF .
/NIE 7 T8 0 BB 35 43 R D
IEAERILGZIL?

1 1
(A)g (B)g

1 1
(C)Z (D)g

1
(E)5

— B PRLHE B L 16 A, Tt ANEH
TREB AR 9 f5E% 32 Ao B A
1§ A
(A)4

(B)24 (C)32

12.

137

14.

15.

Of the following numbers, which cannot be
expressed in the form 11A + 19B where A and
B are positive integers?

(A)30 (B)68 (C)123

(D)211 (E)None of these

Which of the squares
A, B, C or D should a
the

missing place in the

logically occupy

&
O

figure below?

XI®[

(A)

>4
'e
™

(©)

(D)

(E)Not enough information

The midpoints of the
sides of a square are
joined together and part
of the resulting square
is shaded. The shaded

area

represents what
proportion of the original square?

(A)g (B)¢ (O

1 1
(D)4 (E)]
The women in a club outhumber the men by 16.7
times the number of women exceeds 9 times the
number of men by 32. Find the number of men:
(A)4 (B)24 (C)32




BERPFERFERIMEER

(D)42 (E) EREREAST

16. JSRAT 100 MEF 1+2+3+ - +99+ 100 =
5050, BAHT 50 N EH1+3+5+-+99=7

= {(A)2 500 (B)2 524 (C)2 525
(D)2 550 (E) EARBEREAX

11, R AR T A AR A

LRI R S, X5 2 BHE S,
| FERITRZE R R kR

" (A)t’

oW @
®

(ERAL

(B)"

0,
(D) "

?;:i

u“

Oty

18. B A — B FERL 2 Fh b o« ATBE—NF
5, MBRFINME 6 MEE 70,5 9 iR
609,784 a HHERZ 7
(A1 (B)3 (©)7
(D)49 (E) BB RE AN

19. BE—HRMAE-—SEETHERRI—%E
B, H-TERM 100 XKEAET, ETE 4K
B —IEEsh T 20
(A)137.5% (B)187.5 %
(D)375 % (E)FEAR

(C)275 %k

(D)42 (E)None of these

16. If the sum of the first 100 integers: 1+2+3+ -+ +
99 + 100 = 5 050, then the sum of the first 50
odd integers: 1+3+5+---+99=27
(A)2 500 (B)2 524
(D)2 550 (E)None of these

(C)2 525

17. Apples, cherries and grapes are arranged on a
platter in the foliowing fashion: opposite sectors
contain fruit which is of equal value. To equal the
value of two bunches of grapes, how much fruit

must be placed in the empty sector?

(A)# (B)'. (C)' "
é
(D) ' s J

' : (E)Not enough information

"?;w

IR T

~

18. A sequence of numbers is obtained by multiplying
each previous value by 2 and adding a number a
to the result. If the 6th number is 70 and the 9th

.. number is 609, what is the value of a?
(A1 (B)3 (C)7
(D)49 (E)None of these

19. Assume that a ball dropped from any height rises half
the distance on the rebound. If a ball is dropped from
100 m, what distance will the ball have covered by
the time it hits the ground the 4th time?
(A)137.5m (B)187.5 m (C)275m
(D)375 m (E)Not enough information



20. —METE M4 B4 fsk

BRMBOER, EEIT || R G

S B A4 5 — G

¥, WABFHARTB | | .| |

YhE AR
(ADA=4 B=4

(B)A=4 B=%&
(COA=% B=4 (D)A=% B=%
(EMsBAR

20.

A rectangular grid is

coloured with the two || R G
colours Red and Green so G

that each colour occurs R 5
half in each column and P .

half in each row. What
colours must the squares labelled A and B be

coloured?
(A)A=R B=R (B)A=R B=G
(C)A=G B=R (D)A=G B=G

(E)Not enough information
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1. B AEE, BAFWNBRESRE 1 £, 558
TFFemik 0.05 FE70, HF ki 0.01 £t K
5B EETS B S BB R 180 Tk, M
TZEE%E—9 FTRNEERE L0 ET?
(A)1.45%55  (B)2.25%5%  (C)3.25%T
(D)18.45 #7586  (E) L REREAXT

2. B RIKFIKR 300 Xot, HEMATAL—
ARG =02z —, i —ARGF -z —. %
B L /PR AGERAE 1 500 £5T?

(A5 (B)6 A (O)10
(D)12 )8 (E)15 H

3. REEBIPILE, TE—
KEFE—-FARN6 X, TEZ
HI0K, BER=ZH15K, M
B RN B, FEE

WSl ADE K V- 30K

B

(A)30 K (B)60 K (C)90 X
(D)150 X (E)900 X

4., FE—Hi P E RSB RBE B R 11 JBK, A
RIEL IR 1 JEK =25 K, AR AP B & 2
&/
(A)44 T X
(D)275 %

(B)S0 2k
(E)2 525 T3

(C)225 Fk

5. KA AR 4 000 T, 200 FHOKBEES 50
FHERENIRE -G LABETWE 1 2B b, 25 0830 G

2

1. To send a package, a company charges $ 1 plus
$0.05 per kilogram and $0.01 per kilometer.
How much would you pay to send a 9 kilogram
package from Moncton to Fredericton if the
distance between those cities is 180 kilometers?
(A) $1.45 (B) $2.25 (C)$3.25
(D) $18.45 (E)None of these

2. John receives $ 300 every week as a salary. If one
week out of two weeks he keeps one third of it and
the rest of the time he keeps one half of it, how
many weeks will it take to save a total of $ 1 5007
(A)35 weeks (B)6 weeks (C)10 weeks
(D)12 weeks (E)15 weeks

3. The planet Pluto has 3 moons.
Moon 1 takes 6 days to make a
complete revolution around the
planet, moon 2 takes 10 days

and moon 3 takes 15 days.

Starting from the position
shownon the diagram, how many days are
necessary to return to the original position?

(A)30 days (B)60 days (C)90 days
<(D)150 days (E)900 days

4. On a map, two towns are 11 centimeters apart. If
the scale of the map is 1 ecm = 25 km, how far
apart are the towns?

(A)44 km (B)50 km
(D)275 km (E)2 525 km

(C)225 km

5. The capacity of a tank sprayer is 4 000 liters. - If 200
liters of water is mixed with 50 liters of herbicide for
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BfK A g 75% FE 0, )BT DLW 42 2 A B
e

(A)12
(D)20

(B)15 ()16
(E) ERBEREAX

. 241 X 376 HaFRFLA R N L0 A RER 9 BIFES
(A)2 (B)3 (C)4
(D)5 (E)6

MR ERKITE 8 KK 12 XK. Kt
GRS REWBE L EE, KBFAEEDY
SEBN 20 FHFK, BIEENREERE D
x*?
(A)2
(D)8

(B)4 (C)6
(E) ERBEREART

IR U ER =12 BF IR A AR B 2 R
X2 R X2 TR F e Z /Bl 6 %+ x4
Jof X8 WT & F7

(A)8 (B)9 (C)54

(D)72 (E) FRE REAXT

. FRIEDIANRAEER . Bl 5 HAAAHEREUE.

1.2 13 1
(A3 +73 B2 * 10
1

S .1 1,1

1,1

10. —HCEFERREH 19 BMA, BHTHTH,
BHT 3 47, A BRI, BRA

SIS . WRFHRIREB TR 76 41, R Atk
BXT O EIRR?

(A)10 (B)11
(D)13 (E)14

(012

11. 7 130 E 200 Z A — N =f %, o i 6

8 BER, BRI K, XTHE
E 2

each acre sprayed, how mary acres can be sprayed if
the tank is 75% full when the spraying begins?

(A)12 (B)15 (C)16
(D)20 (E)None of these * ="

. How much should we add to the prodﬁct 241 X376
to obtain a multiple of 97 '
(A)2 (B)3 (C)4
(D)5 (E)6

. A rectangular pool is 8 m wide and 12 m long. A

concrete walk of uniform width surrounds the pool. If
the total area of the pool and the walk is 320 square
meters, how many meters wide is the walk?

(A)2 (B)4 (C)6

(D)8 (E)None of these

. f1"=12", determine the number of 6" X 4" X §"

rectangular boxes that can fit completely inside a
2" X2" %2 box.
(A)8

(D)72

(B)9
(E)None of these

(C)54

. Four of the following are equal. Which is the odd one out?

1.2 3.1
(A3 B2+ 10
S5, 1 1.1
(C)12+ 5 (D)4 +3
11 1
(E)yp*s

10. A mathematics contest consists of 19 questions.

Seven points are awarded for each correct answer,

. and 3 points are deducted for each wrong answer. If

11.

a question is omitted, no points are awarded. If
Daniel gets a score of 76 on the contest, how many

questions did he answer correctly?
(A)10 (B)11
(D)13 (E)14

(O)12

A three digit number is between 130 and 200. It
is divisible by 6 and 8. The tens digit is greater
than the ones digit. What is the number?
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12.

13.

14.

15.

~16.

(A)144 (B)168 (C)184
(D)192 (E)196
— MK —E P WG R 48 F, BERW

83K, EREME ST
(A)16 (B)18

(©)20 (D)22

(E)24

Bt A FIB ARRFE s
B . T4 BT 3 5
WKL Z 4 4
JL2 D

(A (B)g

©y %
(E) B3R RERA X

BREN 9.1 KRMEE A aHE 10 M5 R
EFAET AP SERETF), HFHKR
10 JE K, [ 75 A0 4B AL F 6] () BE B R & 0 B
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12.

13.

14.

(A)144 (B)168 (C)184
(D)192 (E)196

A water tank contains 48 liters when it is half
full. How much water needs to be added so that
it will be % full?

(A)16 (B)18

(©)20 (D)22

(E)24

A and B are the middle

points of the sides. What
fraction (of the total area) 4
does the shaded region

represent?
1 1
(A)E (B_)§
1 1
(©) vy (D) 3

(E)None of these

A wall which is 9.1 meters long is divided by 10
evenly spaced 10 cm square posts (including the
posts on the corners). How many cm wide is the
space between consecutive posts?

(A)81 (B)90

(C)91 (D)100

(E)None of these

15. What is the area of the shaded region?

16.

(A)2
(D)5

(B)3
(E)6

(C)4

The square is divided into 5
If the

perimeter of one rectangle' is

congruent rectangles.

30 units, what is the perimeter

of the square?




